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1. 

      8 lychees get  1 child 

So,  32 lychees get (32÷8) children 

                                   =4 children. 

Ans: 4 children. 

2. 

        5 notebooks get 1 student 

 So, 45 notebooks get (45÷5) students 

                                          =9 students. 

Ans: 9 students. 

 3. 

       3 children get 15 biscuits 

 So,  1 child get (15÷3)biscuits 

                              = 5  biscuits. 

Ans: 5  biscuits. 



4. 

      In 4 taka a man bought 1 egg 

So, In 32 taka a man bought (32÷4) eggs 

                                                     =8 eggs 

Ans: 8 eggs. 

5. 

        8 students make 1 group 

So,   72 students make (72÷8) groups 

                                            =9 groups 

Ans: 9 groups. 

                                     The end 

 

 

 

 


